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MULTIPLE CHOICE (5 POINTS EACH)

1. Suppose NCNU produces two goods, food and machines; NCNU always operates on its
production possibilities frontier. Last year, it produced 1,000 units of food and 47 machines.
This year NCNU experienced a technological advance in its machine-making industry. As a

. result, this year NCNU wants to produce 1,050 units of food and 47 machines. Which of the

following statements is correct?

a. Because the technologlcal advance oce
will not be possible to increas
production below 47.

b. Because the technological ad
increases in output can only o

c. In order to increase food productlon in

u in the machine-making industry, it
J ion without reducing machine
u red in the machine-making industry,

achine industry.
these circumstances without reducing

machine production, NCNU must reduce inefficiencies.

d. The technological advance reduced the amount of resources needed to produce 47
machines, so these resources could be used to produce more food.

2. Nick and Traci are two woodwork oth-make tables and chairs. In one month,
Nick can make 3 tables or 6 chairs, whereas|{Tradi|can make 16 tables or 48 chairs. Given
this, we know that the opportunity co it {s

a. 1/2 table for Nick and 1/3 tabl Fraei

b. 1/2 table for Nick and 3 tables far Traci.

c. 3 tables for Nick and 1/2 table for Traci.
d. 1/3 table for Nick and 2 tables for Traci.

3. Suppose the United States has a comparative advantage over Mexico in producing pork.
The principle of comparative advantage asserts that

a. in order to consume beyond its roductlon possibilities frontier, the United States

should produce more pork tha
b. in order to consume beyond itsprod

should produce a moderate qu
requires from Mexico. J
s

c. in order to consume beyond it

es and export some of it to Mexico.

possibilities frontier, the United States
and import the remainder of what it

ssibilities frontier, the United States

should refrain altogether from producing pork and import all of what it requires

from Mexico.

d. Mexico has nothing to gain from importing United States pork.

4. When the price of candy bars is $1.10, the

prlce falls to $0.90, the quantity dem &?%j

using the midpoint method, we know
a. inelastic.

b. elastic.
c. unit elastic.
d. perfectly inelastic.

quantity demanded is 340 per day. When the
es to 350. Given this information and

lfe-demand for candy bars is
—]
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5. Suppose that in a particular market, the supply curve is highly elastic and the demand
curve is highly inelastic. If a tax is imposed in this market, then the

a. buyers will bear a greater burden of the tax than the sellers.
b. sellers will bear a greater burden of the tax than the buyers.
c. buyers and sellers are likely to share the burden of the tax equally.

d. buyers and sellers will not share the equally, but it is impossible to

tion in the supply of steak would
steak and decrease producer surplus in

6. Steak and chicken are substitutes. A

a. increase consumer surplus in
the market for chicken.

b. increase consumer surplus in the market for steak and increase producer surplus in
the market for chicken.

c. decrease consumer surplus in the market for steak and increase producer surplus in
the market for chicken.

d. decrease consumer surplus in the market for steak and decrease producer surplus in
the market for chicken.

7. Spain is an importer of computer chips,taking the world price of $10 per chip as given.
Suppose Spain imposes a $5 tariff or njch of the following outcomes is possible?

3 a. Spanish consumers of chips losd's antish producers of chips gain.
b. Fewer Spanish-produced chips are sold in Spain.
c¢. Spanish consumers and producers of chips gain.
d. Total surplus in the Spanish chip market increases.

8. Which of the following statements regarding a competitive firm is correct?
a. Because each firm faces a downward sloping demand, if a firm increases its level
of output, the firm will have t
b. If a firm raises its price, the firm-ma
though it will sell fewer units.
c. By lowering its price below th , the firm will benefit from selling
more units at the lower price than it could have sold by charging the market price.

d. For all firms, average revenue equals the price of the good.

I(irw r price to sell the additional output.
ble to increase its total revenue even

€

9. NCNU Airlines flies between Taiwan and Japan. The company leases planes on a year-

long contract at a cost that averages $600 per flight. Other costs (fuel, flight attendants, etc.)
amount to $550 per flight. Currently, NCNU's revenues are $1,000 per flight. All prices and
costs are expected to continue at theilr pre lewels. If it wants to maximize profit, NCNU
Airlines should - g

a. drop the flight immediately. —
b. continue the flight. | | l Eﬂ 4
c. continue flying until the lease €Xpi en drop the run,

d. drop the flight now but renew the lease if conditions improve.
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10. The profit-maximization problem for a monopolist differs from that of a competitive firm
in which of the following ways?

a. A competitive firm maximizes profit at the point where marginal revenue equals
marginal cost; a monopolist maximizes profit at the point where marginal revenue
exceeds marginal cost.

b. A competitive firm maximizes profit at the point where average revenue equals
marginal cost; a monopolist mzaXi it at the point where average revenue
exceeds marginal cost.

c. For a competitive firm, margi
equal to marginal revenue at
revenue at the profit-maximi
levels of output.

d. For a profit-maximizing competitive firm, thinking at the margin is much more
important than it is for a profit-maximizing monopolist.

e|at the profit-maximizing level of output is
|levels of output; for a monopolist, marginal
utput is smaller than it is for larger

11. A monopolistically competitive firm is currently producing 25 units of output, At this
level of output the firm is charging the highest price it can at $30, has marginal revenue
equal to $21, has marginal cost equalto=$2[l Jand has average total cost equal to $22. From

b. the firm is earning zero profit
c. increasing the quantity produ per-unit costs.
d. firms are likely to leave this market in the long run.

d will rai

12. If a certain market were a monopoly, then the monopolist would maximize its profit by
producing 4,000 units of output. If, instead, that market was a duopoly, then which of the
following outcomes would be most likely if the duopolists successfully collude?

a. Each duopolist produces 4,000units o ut.
dﬁf))ut.

b. Each duopolist produces 1,5
c. One duopolist produces 2,400units tput and the other produces 1,600 units of

output. ] l
d. One duopolist produces 3,000-unt

output.

t and the other produces 1,500 units of

13. Kofi's Auto World installs tires on automobiles, light trucks, and sport utility vehicles.
He is a profit-maximizing business owner whose firm operates in a competitive market. The
marginal cost of installing a tire is $15. The marginal productivity of the last worker that

Kofi hired was 3 tires per hour. What is the maximum hourly wage that Kofi was willing to
pay the last worker hired? [
(N

a. $90

b. $15
c. $45 =/ \S

d. $5
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14. Bundle J contains 10 units of good X and 5 units of good Y. Bundle K contains 5 units of
good X and 10 units of good Y. Bundle L contains 10 units of good X and 10 units of good
Y. Assume that the consumer's preferences satisfy the four properties of indifference curves. !
The price of X is $1, the price of Y is $2, and the consumer has an income of $20. Which
bundle will the consumer choose?
a. BundleJ
b. Bundle K —

c. Bundle L
d. Either bundle J or bundle K

15. You are thinking of buying a bonégfr CXCorporation. You know that this bond is
long term and you know that JACK's business ventures are risky and uncertain. You then
consider another bond with a shorter term to maturity issued by a company with good
prospects and an established reputation. Which of the following is correct?
a. The longer term would tend to make the interest rate on the bond issued by JACK
higher, while the higher risk would tend to make the interest rate lower.

b. The longer term would tend to |:| est rate on the bond issued by JACK
lower, while the higher risk wo 1@9 to-make the interest rate higher.

c. Both the longer term and the hi l] uld tend to make the interest rate lower
—
—3

on the bond issued by JACK.

d. Both the longer term and the hi
on the bond issued by JACK.

d tend to make the interest rate higher

16. Which of the following is an example of an efficiency wage?
a. A high wage paid to compensate for dangerous work such as coal mining

b. An above-equilibrium wage offered by a firm to attract a more talented pool of job
applicants

c. A wage below the minimum w%' ented by customer tips

d. A high wage paid to a college %t’adﬂﬂ: high-skill job such as electrical
engineering '

L
17. Suppose exchange rates are defined as foreign currency per dollar and foreign goods per
U.S. goods. According to purchasing-power parity, if the price of a basket of goods in the
United States rose from $1,500 to $2,000 and the price of the same basket of goods rose

from 600 units of some other country's currency to 1,000 units of that country's currency,
then the

a. nominal exchange rate would appreciate.

b. nominal exchange rate would d plj___efi

c. real exchange rate would apprediatg
L—

d. real exchange rate would depre —

11
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18. Suppose that Australia imposes an import quota on coal. The quota makes the real
exchange rate of Australian dollar
a. appreciate but does not change the real interest rate in Australia.

b. appreciate and the real interest rate in Australia increase.
c. depreciate and the real interest rate in Australia decrease.
d. depreciate but does not change the real interest rate in Australia.

19. Suppose the economy is in long-
expenditures, eventually the increase'i
a. rise. This rise in price expectat
the right.
b. rise. This rise in price expectations shifts the short-run aggregate supply curve to
the left.
c. fall. This fall in price expectations shifts the short-run aggregate supply curve to
the right.

d. fall. This fall in price expectations shifts the short-run aggregate supply curve to
the left.

) . :
lihrium. If the government increases its
» emand causes price expectations to
the short-run aggregate supply curve to

o l —
20. Economists who are skeptical abquithg reledance of "liquidity traps" argue that

a. a central bank continues to have mulate the economy, even after its
interest rate target hits its lowey bouEE=®{ zeto.

b. a central bank continues to have tlie opfi f committing itself to future monetary
contraction, even after its interest rate target hits its lower bound of zero.

c. a central bank can greatly reduce the likelihood of a liquidity trap by setting the
target rate of inflation at zero.

d. while the concept of a liquidity trap is theoretically possible, nothing resembling a
liquidity trap ever has been observed in the real world.
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